
４ｍ 30ｃｍ ＋２ｍ 40ｃｍ ＝ （　　ｍ　　ｃｍ ）

つぎ の 計算しき を ときましょう。１

５ｍ 50ｃｍ ＋３ｍ 20ｃｍ ＝ （　　ｍ　　ｃｍ ）

２ｍ 10ｃｍ ＋６ｍ 60ｃｍ ＝ （　　ｍ　　ｃｍ ）

３ｍ 80ｃｍ ＋３ｍ 40ｃｍ ＝ （　　ｍ　　ｃｍ ）

６ｍ 50ｃｍ ＋２ｍ 70ｃｍ ＝ （　　ｍ　　ｃｍ ）

けいさん

つぎ の ひっ算 を ときましょう。２

５ｍ  ４cm

＋２ｍ  ４cm

ｍ  　cm

３ｍ  ５cm

＋４ｍ  ３cm

ｍ  　cm

４ｍ  ２cm

＋１ｍ  ６cm

ｍ  　cm

４ｍ  ６cm

＋８ｍ  ７cm

ｍ  　cm

９ｍ  ７cm

＋３ｍ  ４cm

ｍ  　cm

５ｍ  ８cm

＋７ｍ  ５cm

ｍ  　cm

６ｍ 1 0 cm

＋６ｍ 7 0 cm

ｍ   cm

７ｍ 2 0 cm

＋４ｍ 6 0 cm

ｍ   cm

８ｍ 5 0 cm

＋６ｍ 3 0 cm

ｍ   cm

http://print-kids.net/1 0 0 c m をこ える 長 さ
ながセンチメートル

1 0 0 c m をこえる長さ
ながセンチメートル


